Population Geography and the Demographic Transition Project (30 points)
You are asked to work in groups of two or you may work individually. Due date: May 8, at the start of class.  Group projects should list at end the role(s) of each contributor, and must be initialed by each.
Part 1 -  Collect Data from Population Reference Bureau
You will need an Excel or other spreadsheet to do this assignment.  Use the www.prb.org site and select the World Population Data Sheet 2017.  To take a geographically stratified random sample of 30 countries, choose:


5 from North and Central America



6 from Asia


5 from South America and the Caribbean


5 from Europe


7 from Africa






2 from Oceania (the Pacific)

In a 30x10 table that you will call Table 1, record the following data for each country:  CBR, CDR, Infant Mortality Rate (IMR), Urbanization (% living in cities), Population under age 15 (%), Population over Age 65 (%).   In the next column calculate the working age population% based on the data you have already entered 100 – (%population under 15 + %population 65 and older).  Then for each country calculate a) the dependency ratio for each country, and b) the elderly support ratio1, as the next two columns. Table 1 should be displayed with the countries organized by geographic region, as indicated above.
Part 2 - Classify Countries into Stages of the Demographic Transition, and Map Them
Make a reorganized copy of Table 1 (which you will title Table 2) in which you have sorted/classified the countries into order according to their stage of the demographic transition.  Include all data in this table.  Show the break points between the different stages, using notes and the following as a guide:  http://www.prb.org/pdf/PopHandbook_Eng.pdf    http://www.prb.org/pdf07/62.1LivelyIntroduction.pdf
As a general rule stage 2 countries have a CBR over 30.  Stage 3 have CBR <30, and have CBR at least 10 larger than CDR.  Stage 4 have a CBR not more than 10 larger than CDR.
Then, on a map of the world, color in the countries, using a different color for each stage.
Part 3 - Scattergrams of Relationships with CBR
Make two graphs using your spreadsheet or other program.  On Graph 1, plot urbanization (%) (x axis) vs. CBR (y axis) for each country in your sample.  On Graph 2, plot infant mortality (x axis) vs. CBR (y axis).  Use the same colors for the dots as in your map from Part 2.  This will enable you to see how the x and y relationship changes during the demographic transition.  Make sure you label the colors and axes on each graph.  Give an appropriate title to each graph.  Each graph should have 30 dots.
Part 4 - Paper
Write a typed double-spaced essay of approximately three pages (11 pt. font).  Comment on Parts 2-3:

-for Part 2, describe and justify how you delineated the break points between the stages.  Also, discuss the geographic distribution of the 4 stages, and make some generalizations about that.

-For Part 3, discuss the relationships found with the two scatter plots. Are they positive or negative?
-Discuss the differences in the dependency ratios for the various countries, observing whether the ratios are dominated by youth or elderly populations.  Can you make any generalizations about the geography of the dependency and elderly support ratios?  What challenges do countries face in the future with a) youthful-dominated ratios and b) elderly-dominated ratios?
Be sure to turn in all tables and graphs in their proper order, and be certain your write-up has all the tables and graphs integrated into it so that the reader finds them at the appropriate place. 
Criteria used for grading will include how well instructions were followed, quality of written part, neatness and general appearances of tables and graphs (please use a computer), technical correctness of ratio calculations, and defensible classification of stages of the demographic transition.
1. The elderly support ratio (old age dependency ratio) is the number of people ages 65+ per 100 working-age people ages 15 to 64.  See http://www.economist.com/node/13611235  Since your data are all expressed as percentages, your ratio is 100*(% ages 65+)/(%ages 15 through 64).  Denominator calculation: 100 - (%under age 15 + %65+).
